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Date

Money Word Problems

Let’s have a party!
We are going shopping to buy items for a party.  
How much money will we spend?
	Lemonade

Birthday cake

Crisps

Ice cream

Cola

Sausage Rolls

Jelly
	5p a bottle

16p

10p per packet

4p 

2p a bottle

8p each

12p




You need:

2 bottles of lemonade





Find numbers 
2 bottles of cola





that you can
1 birthday cake






add together
4 packets of crisps





easily in your
1 pack of jelly






head to make 
1  pack of sausage rolls




the sum easier

How much will this cost? 

_________

	If you give the cashier £1.00 how much change will you get?

Show how you worked out the answer to this problem…




